GENERAC

POWER SYSTEMS, INC.

GENERAC CORPORATION

757 N. NEWCONB RD.

Manual No. A9292

INSTRUCTIONS & PARTS
EXHAUST KIT
Models 09742-0 , 04005-0

WHITEWATER, WI 53190

FAX: (414) 473-3626

TELEPHONE: (414) 473-5514

EXHAUST KIT COMPATIBILITY

This exhaust kit is designed for use with conventional
bottom out compartment or suspended bottom out
compartment installations.

Al DANGER:

THE GENERATOR ENGINE GIVES OFF DEADLY CAR-
BON MONOXIDE GAS THROUGH ITS EXHAUST SYS-
TEM. THIS DANGEROUS GAS, IF BREATHED IN SUFFI-
CIENT CONCENTRATIONS, CAN CAUSE UNCON-
SCIOUSNESS OR EVEN DEATH

NOTE: This kit is intended to be installed by an autho-
rized Generac Service Technician. If this is not possible,
contact Generac Power Systems at 1-800-526-2871.

SYMPTOMS OF CARBON MONOXIDE POISONING:

Inability to think coherently
Vomiting

Twitching muscles
Throbbing in temples
Dizziness

Headache

Weakness and sleepiness

IF YOU EXPERIENCE ANY OF THE ABOVE SYMPTOMS,
MOVE INTO FRESH AIR IMMEDIATELY. IF SYMPTOMS
PERSIST, GET MEDICAL ATTENTION. DO NOT OPERATE
THE GENERATOR SET WITH A DEFECTIVE OR LEAKING
EXHAUST SYSTEM.

S C A

//.

T
ITEM PART NO. QTY. DESCRIPTION ITEM PART NO. QTY. DESCRIPTION
1 52108 1 MUFFLER 7 75238 1 PIPE
2 A8613 1 HANGER 8 75411 1 ELBOW
3 28238 3 U-BOLT ] 77643 2 GASKET
4 28237 3 CLAMP, SADDLE 10 77642 1 ADAPTOR, BOTTOM OUT
5 22129 6 LOCK WASHER 11 42568 2 M6-1.0 x 20mm CAPSCREW
6 22259 6 HEX NUT - 5/16” 12 22097 2 LOCK WASHER, 1/4-16

Revision 0 (04/22/99)

Printed in US.A




